. : Total number of pages - 8 E
33T ECON ; | |

2023
ECONOMICS .
Full Marks : 80
Pass Marks : 24
Time : Three hours.
The fzgures in the margin mdzcate full marks
‘ for the questzons
PART- A F Wi“T)
Q. No.1 (i- v:) carries 1 mark each © 1x6 = 6
Q. Nos. 2 (i~vi) carries 2 marks each S 26 =12 .
-Q. Nos. 3 -6 carry 4 marks each S 4x4 =16
Q. No. 7 carries 6 marks ' ' . 6x1= 6
" Total = 40
PART-B (% -it+)
Q. No. 8 (i-wvi) carries 1 mark each , 1x6= 6
Q. Nos. 9 (i-vi) carries 2 marks each - 2x6=12
Q. Nos. 10 - 13 carry 4 marks each = 4x4 =16
Q. No. 14 carries 6 marks : : 6x1= 6
Total = 40

Total (PART A & B): 40+40=80
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PART-A /¥4
1. Answer the followmg ' L _— - 1x6=6
(i) Deflne personal dlsposable income.
TS IRy R RS L
(i) What is the primary objective of commercial bank ?
Al @sea e Sy [ e T
(ii) Net indirect taxes are estimated as —
fReb i w1 (gr—
. (a) Indirect taxes + —Subsidies
E@F [+ Y
(b) Subsidies - Indirect taxes
AL - AWERT
(c) Indirect taxes - Subsidies
(d) Both (b) and (c) o
() () T S
(Choose the correct option)
| - (9% [R5 Koy 71)
(iv) Give two examples of capital expenditure of the government budget. -
DRI SO [ T 707 Twreel fa | |
(v) What type of budget should the government prepare during mﬂauon ?
TR S 5 (FEALEIR ACED 2T IR A 2

(vi) In order to encourage mvestment in the economy, the central bank will
adopt which of the following measures ?

w@f\vfiﬁmﬁwﬁ‘mm @S@ﬂ (T OF (PN Wﬂw

PRE? - . .
(a) [ncrease cash reserve ratio A '
Tl FTHI Tl e Fie
(b)) Reduce cash reserve ratio
o T OATS I IR
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(¢) Increase bank rate *
RS IR

(d) None of the ébové
89T OIS T

2. . Answer the following *

O ePPTIRS T Tl ¢

(1)

(i)

33T ECON

- (Choose the correct optzfdn)

(0% s o1 7))

2x6=12

Afirm produceé goodé of Rs.500 per year and uses intermediate goods..

of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate
gross value addition and net value addition by the firm. -

Q- ARSHIC TR 500 S T3 TeaAWH T e TAR AR 250%13@@
wm@w%wmﬁa@%mwﬁwzowv&mm

@wﬂxwmﬁ@%wﬁWﬂWW|
OR /9%l

What do you understand by the problem of double countmg in the

context of national income accounting ?

ISR I SIS aw\ﬂstrﬂmﬂwqﬁmﬁqw

Calculate national income with the following data.

oY OUR TS TSI S Ao I |

GDP at market price : Rs.830 crore

- &7 ¥ GDP : Rs.830 (36

~ Depreciation : Rs.120 crore

SR ¢ Rs 120 e

Net indirect taxes : Rs.70 érore

- b o3 39 ¢ Rs.70 @If6

Net factor income from abroad : Rs.40 crore

R “A9t b T =17 ¢ Rs.40 &6
' OR /994t

Differentiate between nominal GDP and real GDP; _

chpmmcnpa il vl |
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(iii) Write two-objectives of government budget.
. SRR ACSHR 7hroTe | ‘ |
(iv) Write two differences between revenue expenditure and Capltal
“expenditure. :
, Wmmwﬁw 751 ol ferdi |
" OR/%
_ What is revenue receipt ? How it is dlfferent from capital rece1pt ? S
ez 2 2 2 e 2T o M T T
(v) What is deficit demand ? Write one cause of deficit demand : |
aﬁﬁ/mﬁm&m%?maﬁrmqw«n S
4 OR/&%d1
What are the factors that affect investment demand i inan economy ?
s R siftne deiis 71 IRT @251 [ [e
(vi) ~Write two merits of fixed exchange rate. : o
i Rt grew gor R | ]
OR/T4I. - : o o
Define spot and forward exchange rate. S P )

K ﬁﬁwmwﬁasmmwﬁﬂ«mwﬁm S

3.  Explain the expend1ture method of calculatmg national income. -~ = 4
WIST S SIS I ~FRTSCH! 0t

OR/9%dT

Discuss the circular flow of national income in a two sector economy.

ﬁw@ﬁmmwmemWWI

4 Discuss the functions of money. . . , | 4

W‘RWW{

5. Thereisa plan to increase national income fromi Rs.1500 crore to. Rs.4000
crore. [f MPC = 0.6, then what should be the change in investment to achieve-

the goal ? - 4
ST G2 T S Rs.1500 (IS TR 7131 Rs 4000 @sﬁmqﬁaw

s 3 tr!| IMER MPC = 0.6 =, m«ﬂiaﬁﬁ%ﬁ\smwﬁw
AR Ton RiRcsE dtares 292
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.OR/®%4A :
What is margmal propensity to consume (MPC) and margmal propensn:y to

save (MPS) ? Show that MPC+MPS=1 o , 14+142=4
2T Beirelt agel (MPC) SR znf@as AL aﬁ«m (Mps) ﬁs-; c“rﬂ% @ -
 MPC+MPS=11" «

C 6. Outhne how equ1l1br1um exchange rate is determmed in free market system.

4
g@wwwﬁﬁmmﬁw WWMI

OR/ WQI?T
Wnte a note on ‘balance of payment’.

ﬂﬁm«m’aﬁmaﬁ mﬁm

7. . Discuss the workmg of mvestment multiplier WIth example. . 6
| ,ﬁﬁmﬂ@mwm%mwwwl | .
: - OR/®\%d |
Explam dlagrammancally how equilibrium level of employment and income
is determined in a two sector economy w1th the concept of aggregate demand
and aggregate supply
Frete SIS TR BIfRA W% TP CRAR AIRAS A ¢ mwm

mﬁmﬂa@aﬁquﬁﬁa AR PR I 1 |

PART-B / %I—w*t

8. Answer the following - T 1%6=6
(i) What is poverty lme ?
wifRg T (e
(i) Name any two Navaratna industries.

R 75! A9 CUiorR A fori |

(ii) Who is known as the architect of economic planning in India ?
T oreats St s Faffel 3 I EA A |
(iv) What do you understand by jobless growth? =
 RaeREw Tam e 5 3@ 2
(v) Name two unconventional sources of energy.
=& gﬁmﬂwmﬂ@ TR AN fevat 1
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o

(vi). Which of the following is a cause of ozone layer depletion? -
o @Wﬁw’w Y HAL B! P2 |
@. No1se pollutlon / ¥ e
(8 Air pollut10n / Y qEd
(c) " Water pollution / el Aqg _
@ None of the above / ‘873 518 T _ |
' L | (Choose the correct option)

N (&% [R5 [Ro19 71)

9.  Answer the following - - : . 2x 6=12.
i) Write two ob]ectlves behind mfrastructure development in India by the
: British government during Colonial rule. '

@WWW@%&WWW%@WW 75! %cm

forar
(i) Write two ob]ectlves of NITI Aayog.
© NITISIeE 71 Sl
' OR/%&[t .
' erte two factors that nece551tates the mtroductmn of economic reform
in India.
SIFeILq mr‘zaf@as HFIRA AR 0 el et |
(iiij) Correctly match the two sides of the followmg table :

o ORI AL e e Rl o
Country , Rank Based on Human Development Index 2022
[l - . 2022 57 17 BRI i oo
India/@RE | n
China/bW : , 129,
Pakistan/ofe@m . 132
Bangladesh/ 0™ - 161
(iv) - Write the full from of AYUSH
AYUSH 3 549 @l foril|
’ ’ : OR/G1
What do you understand by medical tourism ?
B o 3T 3@ e

33T ECON (6]



10.

11.

- 12

13.

14.

(v) - Write ore positive and one negative impact of globalisation in the Indian
economy. : T ' S
SieR SRS TR BT I S G5 AT or ferli -

(vi) Write two differences between formal and informal sources of rural

~ credit. . '

SIS A w@ﬁ@"mmﬂhﬁa?%am 7o énﬁl’?ﬁ ﬁwﬁl

- Write the featurés of the Industrial Policy, 1956. s

1956 5 SrpifE Ao WREPRR R
, o B "OR/ o<y o

Briefly discuss the problems faced by the Indian agriculture sector in pre-

reform period. co '

ol TS OiNed $ A6 AYTN mmﬁimﬂWW|

‘Discuss four important causes of poverty in India. . v 4

o WRESR 5IRG! 4 TR SACAGT T 1 -

Write a note on condition of health infrasfruéture in India. | ' 4-

oo AT e g R off G R | -
S OR/&A

What is workforce ? Write the causes of low workforce participation rate of
fernale as compared to male. o o 1+3=4
i 2 o IS TRER T e 3 (IR e forei |
Write a comparative note on the contribution of agficultﬁre, industry and
service sectors to the respective economies of India, China and Pakistan. 4

m,%qu@W-mﬁ,Wﬂmmwiwm

7qET B! PR (B AFO I
' | OR/&4Y

Briefly describé the path of economic development of China.

Fig AT TRENT AReTR R s T
How is human development a broader term as compared to human capital ?
What are the main problems of human capital formation in India ? 3+3=6

Wﬂﬁwwmmmmm@%qﬁwwwwwm

S{3TE S TP forl |
OR/®%a! -
Discuss how agricultural activities can be diversified. 6

WWW/WTfWWﬁWWI
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